
Shyness my shield MCQS

1.  What was wrong according to Gandhiji?
(a) To attend the meeting  (b) To express his view  (c) To be a silent spectator  (d) To be accusative.
2.  Who among the following is the owner of Thames Iron Works?
(a) Dr. Oldfield  (b) Mr. Hills  (c) Gandhiji  (d) Dr. Allinson
3.  The existance of the vegetarian society depended on whose finantial assistance?
(a) Dr. Oldfield  (b) Mr. Hills  (c) Gandhiji  (d) Dr. Allinson
4.  Who among the following advocated birth control movement?
(a) Dr. Oldfield  (b) Mr. Hills  (c) Gandhiji  (d) Dr. Allinson
5. Why Mr. Hills didn't like Dr. Allinson?
(a) Being puriton, Mr. Hills did not like the moral thoughts of Dr. Allinson.
(b) Dr. Allinson fought against Mr. Hills.
(c) Being a doctgor Allinson promoted meat.
(d) Dr. Allinson was more firendly with Gandhiji.
6.  According to Mr. Hills, in addition to vegetarian diet the society should also work ---.
(a) to promote birth control
(b) to increase working class income
(c) to promote moral values
(d) to fight against corruption.
7.  Why did Gandhiji support Mr. Hills in principle?
(a) Because Dr. Allinson voted against Mr. Hills
(b) Because Gandhiji felt that birth control is against morality.
(c) Because Dr. Oldfield instructed him.
(d) Because Gandhiji was an enemy of Dr Allinson.
8.  Which of teh following statements of Gandhiji about the membership in teh vegetarian society ius true?
(a) Only puritons should become members
(b) Membership cannot be denied based on his private ideals.
(c) The society should work to create awareness about the importance of birth control.
(d) Membership should be probihited for the working class.
